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   Part – III    Time : 2 Hours 

   GEOGRAPHY Cool-off time : 20 Minutes 
   Maximum : 60 Scores 

   (Map Accompanied) 
 

 

General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 20 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Malayalam version of the questions is also provided. 

 

    20   ‘  ’  .  

 ‘  ’     
 . 

      . 

    . 

   . 
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Answer the following questions from 1 to 39 up to a maximum score of 60. 

Each question from 1 to 6 carries 1 score. (6  1 = 6) 

1. Identify the pull factor of migration : 

 (A) Water shortage (B) Unemployment 

 (C) Educational facilities (D) Epidemics 

 

2. Which among the following is a primary activity ?  

 (A) Hunting  (B) Trade  

 (C) Transport (D) Tourism  

 

3. Which of the following streams of internal migration where male migrants are 

dominated in India ?  

 (A) Rural – Rural (B) Rural - Urban 

 (C) Urban - Rural (D) Urban – Urban  

 

4. A health indicator used to measure Human Development in India  

 (A) Rich resource base  (B) Life free from illness 

 (C) Education (D) Employment 

 

5. Name the port located on the River Hugli. 

 (A) Visakhapatnam Port (B) Chennai Port 

 (C) Mumbai Port (D) Kolkata Port 
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1  39   .              

60  . 

1  6   1  . (6  1 = 6)  

1.     : 

 (A)   (B)  

 (C)   (D)   

 

2.         

 (A)  (B)  

 (C)  (D)   

 

3.      ,  

   ?  

 (A)  –  (B)  –  

 (C)  –  (D)  –  

 

4.        

 

 (A)   (B)   

 (C)  (D)  

 

5.      

 (A)   (B)   

 (C)   (D)   
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6. The target area planning suitable for Rajasthan Desert :  

 (A) Hill Area Development Programme 

 (B) Command Area Development Programme 

 (C) Drought Prone Area Development Programme 

 (D) Tribal Area Development Programme 

 

 Each question from 7 to 14 carries 2 scores.  (8  2 = 16)   

7. Define Human Geography. 

 

8. What is Population Pyramid ?  

 

9. What do you mean by Public Sector Industries ? Give one example.  

 

10. Distinguish between quaternary and quinary economic activities.  

 

11. What are Ports of Call ? Give one example. 

 

12. List out any two factors affecting the location of rural settlements. 

 

13. Define the following : 

 (a) Conurbation 

 (b) Megalopolis  

 

14. Write any two problems of Indian Agriculture.  
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6.      

 :  

 (A)     

 (B)     

 (C)      

 (D)      

 

 7  14   2  . (8  2 = 16)   

7.    . 

 

8.    ?  

 

9.     ?  

 . 

 

10.       

  . 

 

11.    ?   . 

 

12.       

. 

 

13.     

 (a)  

 (b)  

 

14.       . 
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 Each question from 15 to 25 carries 3 scores.  (11  3 = 33)  

15. Name three components of population change. 

 

16. Distinguish between Growth and Development. 

 

17. ‘Equity’ is one of the pillars in the idea of Human Development. Write the other major 

pillars.  

  

18. Write a short note on the characteristic features of plantation agriculture.  

 

19. Write a short note on underground mining.  

 

20. Write any three characteristic features of Inland water transport.  

 

21. Define density of population. Distinguish between physiological density and 

agricultural density.  

 

22. What are Border Roads ? Write its importance.   

 

23. Classify the Indian towns on the basis of their evolution. 

 

24. Write any three merits of rain water harvesting. 

 

25. Write a short note on the Petroleum resources of India.  
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 15  25   3  . (11  3 = 33)  

15.       ? 

 

16.    . 

 

17.      .   

 . 

  

18.      . 

 

19.      . 

 

20.       . 

 

21.  .     

 . 

 

22.     ?   . 

 

23.      . 

 

24.     . 

 

25.      . 
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 Each question from 26 to 35 carries 4 scores.  (10  4 = 40)  

26. Explain briefly about the pull factors of migration.   

 

27. Distinguish between the positive growth of population and negative growth of 

population.  

 

28. Explain the various approaches in Human Development.  

 

29. List the characteristic features of Dairy Farming.  

 

30. Explain briefly the characteristic features of Nomadic Herding.  

 

31. Write a short note on the significance of Satellite Communication. 

 

32. What do you mean by migration ? Differentiate between life time migrant and migrant 

by last residence.  

 

33. List out the differences between rural and urban settlements.  

 

34. What are non-conventional sources of energy ? Write a short note on any one of them. 

 

35. Write a short note on Mumbai – Pune Industrial region.  
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 26  35   4  . (10  4 = 40)  

26.    . 

 

27.        

 . 

 

28.     . 

 

29.   . 

 

30.      . 

 

31.       .  

 

32.    ?    

   . 

 

33.       

 . 

 

34.      ?   

. 

 

35.  –       . 
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 Each question from 36 to 38 carries 6 scores.  (3  6 = 18)  

36. Describe briefly about the demographic transition theory. 

 

37. Explain briefly about the social and economic consequences of migration.  

 

38. Explain the classification of urban centers based on their function with suitable 

example.  

 

39. Identify the following Geo-information and locate them on the given outline map of 

India. Each carries 1 score.  (7  1 = 7)  

 (a) The urban agglomeration which received the higher number of in migrants. 

 (b) The state which is the leading producer of Coffee. 

 (c) A market based oil refinery.   

 (d) The largest coal field. 

 (e) The headquarter of Northern Railway Zone. 

 (f) The most polluted tributary of the river Ganga. 

 (g) The state which is the leading producer of Manganese.  

_____________  
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 36  38   6  . (3  6 = 18)  

36. ,   . 

 

37.      

. 

 

38.       

 . 

 

39.       

  . 1  . (7  1 = 7)  

 (a)     

 (b)      

 (c)     

 (d)     

 (e)     

 (f)     

 (g)      

_____________ 
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For Question No. 39 
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